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Risposte

1. 6.7

2. 6.8

3. 8.41

4. 9.6

5. 7.5

6. 6.8

7. 2.6

8. 7.2

9. 4.67

10. 4.1

11. 4.65

12. 5.84

13. 7.9

14. 6.81

15. 2.5

Trova il valore di X per ogni cifra. Ogni cifra è in centimetri (cm). Non in scala.

1) area = 34,84 cm2

5.2

X

2) area = 41,344 cm2

6.08

X

3) area = 80,9042 cm2

X

9.62

4) area = 77,76 cm2

X

8.1

5) area = 69 cm2

9.2

X

6) area = 63,308 cm2

9.31

X

7) area = 10,556 cm2

4.06

X

8) area = 61,2 cm2

8.5

X

9) area = 30,7753 cm2

6.59

X

10) area = 18,942 cm2

4.62

X

11) area = 28,7835 cm2

6.19

X

12) area = 46,136 cm2

X

7.9

13) area = 26,86 cm2

3.4

X

14) area = 52,437 cm2

X

7.7

15) area = 20,5 cm2

8.2

X
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